Table 3: Temperature Conversions
Stale [0 Kewn From Ketvin Stale To Celsius From Celsis
Cosis  K="C+21318  'C=K-1131% Falienhet ‘C=(F-30:18  F=(1f'C)+d
Falirenhiet K= CF+ 4006718 'F=(Ce18)- 40967 | Rankine 'C=(R+18)- 27313 R=182(C+21319

Rankine ~ K="R+ 1 R=1 45K e C=K-20315 KT TENS

Scle To Rankine From Rankine Scale  ToFahrenkiet From Falirenhed
Calsios "R=1 B (C+2T38) *0=(R=10)- 27005 Cebs  F=(180)+dl  G=(F-10+10
Falrenhet R="F +43957  'F="R- 4505 Rankine  F=R-43067  R="F 404

Kehin =10k ny e F=(1Bk)- 45067 K= (F + 45067+ 1 8




